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31| A~ & 7 A F v K| mgL | 0.08 | 0.008K — — 0.008 AT
20W & Kk B F o b & W mgL | 1.0 | 0.055K% — — 0.05 A
BT AI=T A K OZ O G W mgL | 0.2 | 0.02K3 — — 0.02
Ml K O = o b & | mgL | 0.3 | 0.03K3 — — 0.03 A7
3Bl K O = o b & #| mgL | 1.0 | 0.055K% — — 0.05A i
367 RV Y A K E DAL A W] meL | 200 8 — — 9
37|~ v v B X% Ot & #| me/L | 0.05 | 0.005Ai — — 0.005 A7
38l b w4 A | mgL | 200 6 6 5 7
9 vy a, w7 kv n% (EE)| mg/L | 300 — — — 52
40 | I % & Y| me/L | 500 92 — — 110
41k 4 A4 v / om & M Al me/L | 0.2 — — — 0.02 K73
42 |2 ES % A 2 | mg/L | 0.00001 — — — 0.000001 A
4312 — AF L AV AL R F — L] mg/L | 000001 — _ _ 0.000001 51
44138 4 A v R om W& M Al me/L | 0.02 | 0.002 75 — — 0.002A7if
4517 = o, — o | me/L | 0.005 — — — 0.0005 A7
46|15 K& m ( TOC » & )| megrL | 3 0.4 0.4 0.4 0.5
47 o H fit oy 7.5 74 7.5 7.4
48 S PO BEAL | BEAL | BREARL | BEARL
49 | & SO BEaL | BEEaaL | BERL | BERL
50 | Bl 5 IEST LA 1A i 1A i
51 | O 2 0.1AK0 | O.1AMm | 0.1 | 0.1K%

53 o oy #| mg/L | o018k 0.2 0.4 0.1 0.2




SRENTNYS

AR IR - OKE AR R

Heh=

DR K G Rk ke N BBLAK R HE —/INE)
o om g 4 |w wpmww| 4AH8H | 5A15H | 6A5H | TALA
1| i #H L | 100 0 0 0 0
2 B BSh ghan | S [ BiEn | mitan s
SIPRIY AR OZE DA S B megL | 0.003 [0.0003A5 — — 0.0003 A
4Pk 8 k& O & o b A& | me/L | 0.0005 |0.00005A ik — — 0.00005 it
5l L v &k O ZF o fb & | me/L | 0.01 | 0.001A7 — — 0.001 A5
65 X O = o b A | megL | 0.01 0.001 — — 0.00 1A
Tle £ Kk 8 2 0o b A& | me/L | 0.01 | 0.001A — — 0.001 A5
gl i 7 v & fb & | me/L | 0.02 | 0.0025K7 — — 0.002 A5
9 |HE @ B R % FE| megL | 0.04 | 0.004KH — — 0.004A7if
07wty R odify 7| mg/L | 0.01 | 0.001A — — 0.001ATif
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 0.7 — — 0.7
1217 v % K 00 % o b & % mgL | 0.8 0.23 — — 0.25
Bl v F K K®Z oA % neL | 1.0 ] 01K — — 0. LA
14 |4 i ik 5 #| me/L | 0.002 [0.0002A47 — — 0.0002 AT
15|1,4- ¥ # & ¥ | mgL | 0.05 | 0.005HK7 — — 0.005 A7
6|72 R TR e |0 04 | 0000kl | — — | 0.0045ki
171 7 0w v A & v mg/L | 0.02 | 0.002K 75 — — 0.002A7i5
187 Fr 2 7 2@ = 5 L » mgL | 0.01]0.0014H — — 0.001 A5
9fr v 2 2 v = F L > myL | 0.01]0.001HH — — 0.001 ¥
20 [~ v ¥ > mg/L | 0.01 | 0.001Ai — — 0.001ATif
21 |t e el me/ | 0.6 | 0.06KT7 — — 0.07
22 |2 = = e M| me/L | 0.02 | 0.002Aif — — 0.002A7i5
23l = m & A A mgL | 0.06| 0.003 — — 0.006
24l 7w om EE @B me/L | 0.03 | 0.003FTH — — 0.003A7i
251 7 m ® Z mowm A v omgL | 0.1 0.001 — — 0.002
26 |5 # il me/L | 0.01 | 0.001A — — 0.001 A5
oThe U v = 2 & | mgL | 0.1 0.006 — — 0.011
28I U 7w v EE R me/L | 0.03 | 0.003AH — — 0.003
297 v = ¥ 7 mow X & ¥ mgL |0.03| 0.002 — — 0.003
07 = = & mg/L | 0.09 | 0.001 A5 — — 0.001ATif
31| A~ & 7 A F v K| mgL | 0.08 | 0.008K — — 0.008 AT
20W & Kk B F o b & W mgL | 1.0 | 0.055K% — — 0.05 A
BT A= AR ZE DA Y| mgL | 0.2 | 0.024K — — 0.02Aifs
Ml K O = o b & | mgL | 0.3 | 0.03K3 — — 0.03 A7
3Bl K O = o b & #| mgL | 1.0 | 0.055K% — — 0.05A i
367 RV Y A K E DAL A W] meL | 200 6 — — 7
37|~ v v B X% Ot & #| me/L | 0.05 | 0.005Ai — — 0.005 A7
38l b w4 A | mgL | 200 5 5 5 4
9y a, v 7 vy nsm (@E)| mg/L | 300 38 — — 43
40 |7 % 7% 5 Wl me/L | 500 71 — — 74
41 4 4 » R om Ww M Al men | 0.2 | 0.02K3 — — 0.02A i
42 |¥ ES %+ A 2 | me/L | 0.00001 ]0.000001 A — — 0.000001 A
4312 — AF v A4 VR v F A — | mg/L | 000001 |0.000001 AT — — 0.000001 A7
44138 4 A v R om W& M Al me/L | 0.02 | 0.002 75 — — 0.002A7if
457 = o — o |l me/t | 0.005 [0.0005HH — — 0.0005 75
4606 ¥ ®m ( TOC @© B )| mg/L 3 0.4 0. 343 0.4 0.4
47 o H fit oy 7.6 7.5 7.5 7.5
48 S PO BEAL | BEAL | BREARL | BEARL
49 | & SO BEaL | BEEaaL | BERL | BERL
50 | Bl 5 IEST LA 1A i 1A i
51 | O 2 0.1AK0 | O.1AMm | 0.1 | 0.1K%

53 o oy #| mg/L | o018k 0.4 0.3 0.3 0.5




Ayt b T AGE A T BT - OB A )

A
OB KG Rmtfa /KA (S BB AR — 55 &)

F07ABE

o om g 4 |w wpmww| 4AH8H | 5A15H | 6A5H | TALA
1| i #H L | 100 0 0 1 0
2 B BSh ghan | S [ BiEn | mitan s
SIPRIY AR OZE DA S B megL | 0.003 [0.0003A5 — — 0.0003 A
4Pk 8 k& O & o b A& | me/L | 0.0005 |0.00005A ik — — 0.00005 it
5l L v &k O ZF o fb & | me/L | 0.01 | 0.001A7 — — 0.001 A5
68 & O & o b A | me/L | 0.01 | 0.001AH — — 0.001ATif
Tle £ Kk 8 2 0o b A& | me/L | 0.01 | 0.001A — — 0.001 A5
gl i 7 v & fb & | me/L | 0.02 | 0.0025K7 — — 0.002 A5
9 |HE @ B R % FE| megL | 0.04 | 0.004KH — — 0.004A7if
07wty R odify 7| mg/L | 0.01 | 0.001A — — 0.001ATif
11 [y M fe 25 % % OF @Y R B % | me/L | 10 0.7 — — 0.7
1207 v & & 002 @ b & | met | 0.8 0.24 — — 0.25
Bl v F K K®Z oA % neL | 1.0 ] 01K — — 0. LA
14 |4 i ik 5 #| me/L | 0.002 [0.0002A47 — — 0.0002 AT
15|1,4- ¥ # & ¥ | mgL | 0.05 | 0.005HK7 — — 0.005 A7
6|72 R TR e |0 04 | 0000kl | — — | 0.0045ki
171 7 0w v A & v mg/L | 0.02 | 0.002K 75 — — 0.002A7i5
187 Fr 2 7 2@ = 5 L » mgL | 0.01]0.0014H — — 0.001 A5
9fr v 2 2 v = F L > myL | 0.01]0.001HH — — 0.001 ¥
20 [~ v ¥ > mg/L | 0.01 | 0.001Ai — — 0.001ATif
21 |1 =S g me/L | 0.6 0.11 — — 0.09
22 |2 = = e M| me/L | 0.02 | 0.002Aif — — 0.002A7i5
2l w =m &K A Al mgr | 0.06] 0.004 — — 0.009
24l 7w om EE @B me/L | 0.03 | 0.003FTH — — 0.003A7i
251 7 m ® Z mowm A v omgL | 0.1 0.001 — — 0.002
26 |5 # il me/L | 0.01 | 0.001A — — 0.001 A5
o7l U o~ o m o2 & v mgL | 0.1 0.007 — — 0.014
28I Uz w wm  EE B me/L | 0.03| 0.003 — — 0.004
297 v = ¥ 7 mow X & ¥ mgL |0.03| 0.002 — — 0.003
307 v = A& A 4| met | 0.09 | 0.001F — — 0.001ATif
31| A~ & 7 A F v K| mgL | 0.08 | 0.008K — — 0.008 AT
20W & Kk B F o b & W mgL | 1.0 | 0.055K% — — 0.05 A7
BT A= AR ZE DA Y| mgL | 0.2 | 0.024K — — 0.02Aifs
Ml K O = o b & | mgL | 0.3 | 0.03K3 — — 0.03 A7
3Bl K O = o b & #| mgL | 1.0 | 0.055K% — — 0.05 A7
367 RV Y A K E DAL A W] meL | 200 6 — — 7
37|~ v v B X% Ot & #| me/L | 0.05 | 0.005Ai — — 0.005 A7
38l b w4 A | mgL | 200 4 5 5 5
9y a, v 7 vy nsm (@E)| mg/L | 300 38 — — 44
40 |7 % 7% 5 | me/l. | 500 72 — — 74
41 4 4 » R om Ww M Al men | 0.2 | 0.02K3 — — 0.02 A3
42 |¥ ES %+ A 2 | me/L | 0.00001 ]0.000001 A — — 0.000001 A
4312 — AF v A4 VR v F A — | mg/L | 000001 |0.000001 AT — — 0.000001 A7
44138 4 A v R om W& M Al me/L | 0.02 | 0.002 75 — — 0.002A7if
457 = o — o |l me/t | 0.005 [0.0005HH — — 0.0005 75
46|15 K& m ( TOC » & )| megrL | 3 0.4 0.4 0.5 0.6
47 o H fit oy 7.7 7.7 7.7 7.6
48 S PO BEAL | BEAL | BREARL | BEARL
49 | & SO BEaL | BEEaaL | BERL | BERL
50 | Bl 5 IEST LA 1A i 1A i
51 | R 2 0. 1A 0.1 0.2 0.1

53 o oy #| mg/L | o018k 0.5 0.2 0.1 0.1




Ayt b T AGE A T BT - OB A )

:,
@R KGR bt Aa KR (B 77 Bl KR — &= k)

F07ABE

o om g 4% |w wwem| AH108 |5H138 | 6A3H | 7TAL0H
1| % #H L | 100 0 0 0 0

2 i BRSO than 3 | S B En 3 | mitan 3
SIH IV AR XE O A P myL |0.003 — 0.0003 A3t — —
41k 882 &K O = o b & | me/L |o0.0005 — 0.00005 K7t — —
5l L v & % ok & ¥ meL |0.01 — 0.001 A — —
68 k& 8 &= o b A | meL |0.01 — 0.001 A — —
Tl & & O £ © b & | megL [0.01 — 0.00 1A — —
8N i v = A At & | me/L |0.02 — 0.002 A i — —
9 [® Y B BE = H| mgL |0.04 — 0.004 i — —
10> 7o e+ ROy 7| mg/L |0.01 — 0.00 1A — —
11 |y W fe 22 % % UYWAY WG B % #E| me/L |10 — 0.5 — —
1217 v % K 00 % o b & % mgL | 0.8 — 0.24 — —
13l 7 #F Kk O 0 & W megL | 1.0 — 0. 1A i — —
14 |1y i k. 174 #| mg/L | 0.002 — 0.0002 i — —
15[1,4- ¥ £ % ¥ | mgL [0.05 — 0.005 A i — —
6] 2 TR e 0.0 — o004k | — —
171 7 0w owm o A & | mg/L |0.02 — 0.002 A7 — —
87 5 7 22 = F L v m/l [0.01 — 0.001 A — —
9| V 7 B 8B = F L | mgL [0.01 — 0.001 ¥ — —
20 [~ v + | me/L |0.01 — 0.00 1A — —
21 |4 ES k| me/L | 0.6 — 0.06 A i — —
22 |7 = = e M| me/L | 0.02 — 0.002 A7 — —
23l = m & A A mg/L [0.06 — 0.003 — —
24l 7 9w w  EE EE| mg/L [0.03 — 0.003 A i — —
251 7 v & 7/ mom A X v mg/L | 0.1 — 0.001 — —
26 |~ e k| me/L |0.01 — 0.001 AT — —
oThe U~ v 2 & o mgL | 0.1 — 0.006 — —
28 UV 7 =m v EE | me/L [0.03 — 0.003 A i — —
297 v = ¥ 27 v u 2 % > mgL [0.03 — 0.002 — —
07 w = A& A mg/L [0.09 — 0.001 ATif — —
31|l ~ & 7 A F v K| mgL [0.08 — 0.008 AT — —
208 ¢ K O F o b A& W myt | 1.0 — 0.05A i — —
BT AI=T AR REDNAAE Y myL | 0.2 — 0.02A i — —
Mgk & ™ = o b & | me/L | 0.3 — 0.03 A3 — —
Bl & & o b & | mer | 1.0 — 0.05A i — —
367 U Y A KB E DAL A W me/l | 200 — 7 — —
Ml v v k% @t & W] meg/L [0.05 — 0.005ATii — —
38l b W 4 A | mgL | 200 5 4 4 4
9Py on, v 7 xvr % (HE) mg/L 300 — 42 — —
40 |74 7 b33 ¥ ¥ me/L | 500 — 68 — —
4102 4 A4 v Ko I M Al me/L | 0.2 — 0.02A 5t — —
42 IV - 7+ 2 N | mg/L | 0.00001 — 0.000001 A< 75 — —
132 — 2F L 4V E L A — | meL | oo — 0.000001 i — -
44098 4 A4 » B om & M Fl| me/L [0.02 — 0.002 A — —
4517 = 2 — o M| me/L |0.005 — 0.0005 A4 — —
4606 ¥ ®m ( TOC @© B )| mg/L 3 0.3 0. 343 0.4 0.3
47 o H fit A 7.4 74 7.4 7.3
48 S S BERL | BERL | BERL | BEeL
49 | & = mi | BERL | BERL | BERL | BERL
50 | Bl OB 5 IEST 1A i 1A i 1A i
51 | O 2 0.1A | O.1ANM | 0.1 | 0.1

53 o oy #| mg/L | o018k 0.3 0.3 0.2 0.2




Ayt b T AGE A T BT - OB A )

A
WO AE K S Rt fa K RE CRPEEL K R AE — BIF)

F07ABE

o om g 4 |w mfew@l 45108 | 58138 | 6A3H | 7H10H
1| % #H L | 100 0 0 0 0

2 B BSh ghan | S [ BiEn | mitan s
S RIv AR XE O A W me/L | 0.003 — 0.0003 A3t — —
41k 82 K Y F O & & | mg/L | 0.0005 — 0.00005 K7t — —
5l L v & % ok & W me/L | 0.01 — 0.001 AT — —
68 & 8 = o &t A W meL | 0.01 — 0.001 A — —
Tle % Kk 8 £ O & & ¥ me/L | 0.01 — 0.00 1A — —
8N i 2 = & b & | me/L | 0.02 — 0.002 A i — —

9 [® 4§ B e = H| mgL | 0.04 — 0.004 i — —
107 kA4 kOt 7| mg/L | 0.01 — 0.00 1A — —
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 — 0.6 — —
1217 v % K 00 % o b & % mgL | 0.8 — 0.25 — —
13l 7 #F Kk O 0k & % mgL | 1.0 — 0. 1A i — —
14 |by #H 1k R F| mg/L | 0.002 — 0.0002 A7 — —
151,4- ¥ £ % ¥ mgL | 0.05 — 0.005 A i — —
16|72 T Y] me [ 0.0 — o004k | — —
171 7 0w oowm A & | mg/L | 0.02 — 0.002 A7 — —
18 ~ 3 7 m v = F L ¥ mgl |0.01 — 0.001 A — —
9| V 7 B 8 = F L o mgL |0.01 — 0.001 ¥ — —
20 [~ v + | me/t | 0.01 — 0.00 1A — —
21 |t # M| me/L | 0.6 — 0.11 — —
22 |7 = = e | me/L | 0.02 — 0.002 A7 — —
23l = = & A Al mgL | 0.06 — 0.014 — —
24l 27 9w w  EE Bl mg/L | 0.03 — 0.003 A i — —
%y 7 v ® 7 v 2 % o meL | 0.1 — 0.001 A — —
26 | & e M| me/L | 0.01 — 0.001 AT — —
oThe U v = 2 & | mgL | 0.1 — 0.017 — —
28I U 7 v v EE | me/L | 0.03 — 0.013 — —
297 v = ¥ 27 v u 2% o me/l |0.03 — 0.003 — —
307 =w = & 2 Al mgL |0.09 — 0.001 ATif — —
31f&x & 7 A F v K| mgL |0.08 — 0.008 AT — —
208 4 K O F o b & W meL | 1.0 — 0.05A i — —
BT AI=T LR OZEDAA W myL | 0.2 — 0.03 — —
Mk & = o b & ¥ meL | 0.3 — 0.03 A3 — —
Bl & ™ o b & W met | 1.0 — 0.05A i — —
367 RV Y A K E DAL A W] meL | 200 — 7 — —
Ml v v k% 0t & | meg/L | 0.05 — 0.005ATii — —
sl kb 4 A | mgL | 200 6 7 7 7
9Py on, v 7 xvr % (HE) mg/L 300 — 41 — —
40 |74 7 b33 ¥ ¥ me/L | 500 — 63 — —
411k 4 A v o IF M Al met | 0.2 — 0.02A 5t — —
42 |¥ £ % A 2 | me/L | 0.00001 — 0.000001 15| 0.000001 AFii | 0.00000 1 A4if
4312 — A F v A4 VR v % A — | mg/L | 0.00001 — 0.000001 i 0.000001 53| 0.00000 1 AJifs
4413 4 A& v Fom I M Al me/ | 0.02 — 0.002 A — —
4517 = 2 — 4 M| me/r | 0.005 — 0.0005 A4 — —
46|H5 H  ( TOC © & )| mg/L 3 0.4 0.5 0.5 0.6
47 o H fit oy 7.8 7.8 7.7 7.8
48 S PO BEAL | BEAL | BREARL | BEARL
49 | = & SO BEaL | BEEaaL | BERL | BERL
50 |fa Bl OB 5 1A 1A i 1A i 1 At
51 | O 2 0.1A | O.1ANM | 0.1 | 0.1

53 o oy #| mg/L 0.1 8Lk 0.2 0.2 0.2 0.2




AVETH E T AKEESASIEF T OKE MR R)
I K S AR KR (RELK R — 58 )

FI7 A

ol om i % | mEwe| 4830 | 5A8A | 6A3R | TH3A
1] itz il mLF | 100 0 0 0 0
2 | 5 BISH L3 B itSh s h | il an g
3IFRI T LK O ZF DAL A Y| me/L | 0.003 — — 0.0003 A1 —
41k 2 & O 2 © b A& #| mg/L | 0.0005 — — 0.00005 A1t —
5LV v kO % o b A& B meg/L | 0.01 — — 0.001 A —
6l X O & o b & | me/L |0.01 — — 0.001 A —
Tl F kK O 2 o b A& | megL | 0.01 — — 0.001 A —
gl M 7 = A fk A W] me/L | 0.02 — — 0.002 A7 —
9 |# M B B ®  F| mg/L | 0.04 — — 0.004A i —
07t as v koL 7| meg/L | 0.01 — — 0.00 1 AT —
11 |y % 6 22 3% R OF MR RN MR RE % #E| me/L | 10 — — 0.4 —
1217 v #F Kk O % Ot & | me/l | 0.8 — — 0.32 —
BlF v F K O Z o fb A& ¥ mg/L | 1.0 — — 0. 1At —
14 |y 1 1t B #| mg/L | 0.002 — — 0.0002A i —
54 ¥ A& F ¥ | mg/L | 0.05 — — 0.005A1if —
w6l 2 E T e [ 00a | — —  |o.004kil |  —
17y 7 v ow A x| mg/L | 0.02 — — 0.002 A1 —
18] v 9 7 v m = F L » mgL |0.01 — — 0.001 A —
9| V 7 v o = F L > mgL |0.01 — — 0.001 A7 —
20 [~ v ¥ | mg/L | 0.01 — — 0.001 A7 —
21 |t =S | me/l | 0.6 — — 0.06 —
22|~ = = i fiz| me/L | 0.02 — — 0.002A7i —
27 v v & A A mg/L | 0.06 — — 0.007 —
24l 7 9w =m  FE Bl me/L | 0.03 — — 0.003 A —
25 7 v ® 7 vwom A X ¥ mgl | 0.1 — — 0.001 A —
26 | % ES ikl me/L | 0.01 — — 0.001 A —
271~ U o~ v A Z | mgL | 0.1 — — 0.009 —
28I Uz =m v EE | me/L | 0.03 — — 0.005 —
29|7 v € ¥ 7 mow A% > mgL |0.03 — — 0.002 —
307 w & A& A A mg/L |0.09 — — 0.001 K —
3 » o 7 v F b F| mg/L |0.08 — — 0.008A it —
2|H s K O T o b A B meg/l | 1.0 — — 0.05Aiti —
BT AI=U LK TZ DAL G| meg/L | 0.2 — — 0.02A it —
Mg &k O o b A& | me/L | 0.3 — — 0.03 A7t —
B Kk = o b A& ¥ mg/L | 1.0 — — 0.05Aiti —
6|7 PV Y AR BE DAL A | meg/L | 200 — — 7 —
37|~ > H v K Y% O At & | me/L | 0.05 — — 0.005A1i —
sl b w4 A | mg/L | 200 7 7 6 6
v oa, v 72y A% (B E)| mg/L 300 — — 23 -
40 |7 7 53 o Y| mg/L | 500 — — 58 —
418 4 4 v K om IE M Al me/L | 0.2 — — 0.02A i —
42 |¥ £ 7 A 2 | mg/L | 0.00001 — 0.000001 7| 0.000001 47 [ 0.000001 A i
4312 — xAF Vv 4V R )L F — JL| mg/L | 0.00001 — 0.000001 i [ 0.000001 i [ 0.00000 1 A ¥
4401 4 A v F om I M Al me/L | 0.02 — — 0.002Ai —
4517 = o~ — o #| me/L | 0.005 — — 0.0005 A7t —
4615 ¥ w ( TOC » & )| mgL | 3 0.4 0.4 0.4 0.4
47 o H fil RN B 7.4 7.3 7.3
48 b P Bl | BEAL | BEARL | BERL
49 |5 £y UL mwaL | REARL | RERL | BEAL
50 | Bl OE 5 1A i IS LA 1A
51 | REl O 2 0.1 | O.1AKW | 0.1KW | O0.1A7H

% & i #| me/L [onik 0.4 0.3 0.3 0.3




AIETH B FAERAS IR E AT - OKE AR )
wen A G B ACRTE — 5 4)

=
2N

D57 B B /K 5 R i fa

F07ABE

o om g 4 |w mfew@l 4938 | 588A | 6A3H | 7TH3H
1| % #H L | 100 0 0 0 0
2 B BSh ghan | S [ BiEn | mitan s
S RIv AR XE O A W me/L | 0.003 — — 0.0003 A3 —

4 |k £ K O = ®© b A& | me/L | 0.0005 — — 0.00005 A —
5l L v & % ok & W me/L | 0.01 — — 0.001 A —
65 X O = o b A | megL | 0.01 — — 0.001 A —
Tle % Kk 8 £ O & & ¥ me/L | 0.01 — — 0.00 1A —
8N i 2 = & b & | me/L | 0.02 — — 0.002 i —
9 [® 4§ B e = H| mgL | 0.04 — — 0.004 A i —
W07 b4 ROy 7| mg/L | 0.01 — — 0.00 1A —
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 — — 1.3 —
1217 v % K 00 % o b & % mgL | 0.8 — — 0.32 —
13l 7 #F Kk O 0k & % mgL | 1.0 — — 0. 1A i —
14 |by #H 1k R F| mg/L | 0.002 — — 0.0002 A7 —
151,4- ¥ £ % ¥ mgL | 0.05 — — 0.005 A i —
16|72 T Y] me [ 0.0 — — o004k | —
171 7 0w v A % v mg/L | 0.02 — — 0.002 A7 —
18| F 9 7 v v = F L ¥ mgL |0.01 — — 0.001 7 —
9| V 7 B 8 = F L o mgL |0.01 — — 0.001 Vi —
20 [~ v + | me/L | 0.01 — — 0.001 Al —
21 |4 e W me/L | 0.6 — — 0.06 A7 —
22 |7 = = e | me/L | 0.02 — — 0.002 A —
23l = = & A Al mgL | 0.06 — — 0.005 —
24l 27 9w w  EE Bl mg/L | 0.03 — — 0.003 A i —
251 7 v ® 7/ mom A X v mg/L | 0.1 — — 0.001 —
26 [ = £ k| me/L | 0.01 — — 0.00 1 A ¥ —
oThe U v = 2 & | mgL | 0.1 — — 0.008 —
28I U 7 v v EE | me/L | 0.03 — — 0.004 —
297 v = ¥ 27 v u 2% o me/l |0.03 — — 0.002 —
307 w = A& A A mg/L | 0.09 — — 0.001 ATif —
31f&x & 7 A F v K| mgL |0.08 — — 0.008 AT —
208 4 K O F o b & W meL | 1.0 — — 0.05A i —
BT A= AR BEDOAA Y mgL | 0.2 — — 0.02 A7 —
M k ™ = o b & W meg/L | 0.3 — — 0.03 ATt —
Bl Kk ™ o b & | me/L | 1.0 — — 0.05 A —
367 RV Y A K E DAL A W] meL | 200 — — 7 —
37|l v H v K OV % @ ft & | me/L | 0.05 — — 0.005 i —
38l b w4 A | mgL | 200 7 7 7 8
9|y a, =7 xvyas (@EE)| mg/L | 300 — — 37 —
40 |74 7 b33 ¥ ¥ me/L | 500 — — 80 —
41k 4 A4 v / om & M Al me/L | 0.2 — — 0.02ii —
42 1> - 7 2 2 | mg/L | o0.00001 — — 0.000001 A ¥ —
4312 — AF L A4 VR )L % F — | mg/L | 0.00001 — — 0.000001 A3 —
4418 4 A v/ om o3& M Al me/L | 0.02 — — 0.002 A i —
4517 = o, — o | me/L | 0.005 — — 0.0005 A7 —
46|H5 H  ( TOC © & )| mg/L 3 0.4 0.3 0.5 0.4
47 o H fit oy 7.3 7.0 6.9 6.7
48 S PO BEAL | BEAL | BREARL | BEARL
49 | = & SO BEaL | BEEaaL | BERL | BERL
50 | Bl OB 5 1A 1A i 1A i 1 At
51 | O 2 0.1A | O.1ANM | 0.1 | 0.1

53 o oy #| mg/L | o018k 0.4 0.3 0.3 0.2
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B k= o b A& W meg/L
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42 | £ 7 A N > mg/L
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47 |o H il
48 IS
49 |2 £
50 | & gl K
51 | Bl =
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